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Write neatly and eligibly

Q1:The accompanying data on single-leg power at a high workload.
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For the above data;
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, then find the z-scores for the maximum observation.



Q2: According to NASA, each space shuttle in the U.S. fleet has several "critical items" that could lead to
catastrophic failure if broke down during flight. NASA estimates that the chance of at least one critical-
item failure within the shuttle's main engines is about 0.016 for each mission. To build space station
Freedom, NASA plans to fly eight independent shuttle missions a year during the reminder of the 1990s.
Find the probability that at least one of the eight shuttle flights scheduled results in a critical-item failure.
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With My Best Wishes




